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BESE-135 : INFORMATION AND
COMMUNICATION TECHNOLOGY

Time : 3 Hours Maximum Weightage : 70%

Note : (i) All questions are compulsory.

'(ii) All questions carry equal weightage.

1. Answer the following gquestion in about

600 words :

Describe the basic components of a computer.
Discuss its uses in the teaching-learning

process.

P.T.0.
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Or

Explain the meaning of constructivist approach
to learning. Discuss its implications for using

ICT in the teaching-learning process.

Answer the following question in about
600 words :

Explain, with examples, how assistive

technologies can help students with special

needs.
Or
Discuss, with examples, how interactive tools

can be used for supporting student learning.

Answer any four of the following questions in
about 150 words each :

(a) Explain the meaning and characteristics of
U-learning,

(b) What is E-book ? How are E-book
developed ?

(¢) Explain, how chat rooms can be used for

student learning.
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(d) State the advantages and limitations of
OERs.

(e) List the advantages of using blog as .
assessment tool.

() Discuss, briefly, how cyber bullying can be
prevented. '

4. Anéwer the following question in about
600 words :

Select a topic of your choice from secondary
school eurriculum. Discuss, how you will select

ICTs and integrate them to teach the same-
topic.

P.T.O.
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